
Tel: (320)847-2200  Fax: (320)847-3112 

OPERATOR’S MANUAL 
AUTOMATIC RESET DEEP TILL & TRASH CUTTER 

PART NO. TM76-02 



































































































DISCLEVELER

11 12

10\1
~O'~/-,
30

9

~~~
~·1:

- .\,~.~====~~~--r t.:
J

22

8
11 0

\

7 30l
L.~-

,//
/

18 .»

/

!
/,

9 -:

------. r //-- 3t

REF. PART NO. DESCRIPTION OTY

I 8-6760 MOUNTING PLA TE 2
2 8-677 SPACER PLATE 2
3 8-6600 UPRIGHT MOUNTING BKT I
4 8-6700 COMPRESSION SPRING 1
5 8-6606 SPRING BUSHING 2
6 8-6500 DISC LEVELER FRAME I
7 8-720 SPINDLE 2
8 8-7016 HARROWDISK-19-1/2" 2
9 8-700 . HUB (COMPLETE) 2
10 8-7013 BOLT, CARRIAGE YzX 1-112" 8
11 8-7014 WASHER, LOCK Yz" 8
12 8-7015 NUT,HEXW' 8
13 8-702 SEALED CONE BEARING INNER 2
14 8-704 BEARING CUP 4
15 8-701 HUB, FOUR BOLT 2
16 8-703 CONE BEARING OUTER 2
17 8-7060 WASHER 2
18 8-723 NUT, SLOTTED 5/8" 2
19 8-724 COTTER PIN-5/32 X 1-1/2 2
20 8-7062 DUST CAP-DCl3 2
21 8-6610 BOLT, HEX 5/8 X 9-112 I
22 8-6611 HEX NUT, CENTERLOCK 5/8" 10
23 8-656 FLA TW ASHER, 5/8 I
24 8-7022 BOLT, HEX 5/8 X 4 9
25 8-658 BOLT, CARRIAGE % X 5 1
26 8-659 HEX NUT, CENTERLOCK % 1
27 8-680 BOLT,HEX YZX3 2
28 8-681 FLA TW ASHER, Yz 4
29 8-682 HEX NUT, CENTERLOCK Yz 2
30 8-705 DUST CAP REI AINER 2
31 8-720HC SPINDLE & HUB COMPLETE 2
32 8-720HBC SPINDLE, HUB & BLADE COMPLETE 2
33 8-678 SPACER PLATE OPT.


	1Deep Till Manual Cover Page
	2Deep Till Warranty
	3Deep Till Table of Contents
	Page 1 Deep Till Manual
	Page 2 Deep Till Manual
	Page 3 Deep Till Manual
	Page 4 Deep Till Manual
	Page 5 Deep Till Manual
	Page 6 Deep Till Manual
	Page 7 Deep Till Manual
	Page 8 Deep Till Manual
	Page 9 Deep Till Manual
	Page 10 Deep Till Manual
	Page 11 Deep Till Manual
	Page 12 Deep Till Manual
	Page 13 Deep Till Manual
	Page 14 Deep Till Manual
	Page 15 Deep Till Manual
	Page 16 Deep Till Manual
	Page 17 Deep Till Manual
	Page 18 Deep Till Manual
	Page 19 Deep Till Manual
	Page 20 Deep Till Manual
	Page 21 Deep Till Manual
	Page 22 Deep Till Manual
	Page 23 Deep Till Manual
	Page 24 Deep Till Manual
	Page 25 Deep Till Manual
	Page 26 Deep Till Manual
	Page 27 Deep Till Manual
	Page 28 Deep Till Manual
	Page 29 Deep Till Manual
	Page 30 Deep Till Manual
	Page 31 Deep Till Manual
	Page 32 Deep Till Manual
	Page 33 Deep Till Manual
	Page 34 Deep Till Manual
	Page 35 Deep Till Manual
	Page 36 Deep Till Manual
	Page 37 Deep Till Manual
	Page 38 Deep Till Manual
	Page 39 Deep Till Manual
	Page 40 Deep Till Manual
	Page 41 Deep Till Manual
	Page 42 Deep Till Manual
	Page 43 Deep Till Manual
	Page 44 Deep Till Manual
	Page 45 Deep Till Manual
	Page 46 Deep Till Manual
	Page 47 Disk Leveler Parts Breakdown

